
PRODUCT DIMENSIONS

PRODUCT DIMENSIONS

COMPONENT CHECKLIST
Item Name QTY
A1 4
A2 4
A3
A4
B

4
4
2

Page 1 of 1

A1

B

A2

A3 A4

M5 x 15mm Screw
M6 x 15mm Screw
M8 x 15mm Screw
M6 Washer
Fixed Bracket

1. Attach brackets to display 2. Mount display on rail

Fixed arms(60cm)

5mm

Height
adjust

Safety
screw

62
6m

m
[2

4.
6″

]

60
0m

m
[2

3.
6″

]

35mm[1.4″]33mm[1.3″]

46
m

m
[1

.8
″]

13
5m

m
[5

.3
″]

12
.5

m
m

[0
.5
″]

Technical Summary
AMB-F600

auroramounts.com.au

Any content of this document or any artwork contained within this document should not be modified or reproduced without the written consent of Aurora Mounts.

Visit auroramounts.com.au for product and warranty information. Contact us at info@auroramounts.com.au for questions or comments.


